

# DZIEŃ 8

ROZWIĄŻ DOMINO.

$$8 \quad \frac{3}{5} \cdot \frac{2}{7} =$$

$$\frac{1}{9} \quad \frac{3}{8} \cdot \frac{4}{7} =$$

$$\frac{2}{9} \quad \frac{3}{20} \cdot \frac{4}{45} =$$

$$6 \quad \frac{3}{5} \cdot \frac{1}{7} \cdot \frac{1}{2} =$$

$$\frac{6}{35} \quad \frac{7}{10} \cdot \frac{3}{5} =$$

$$\frac{4}{13} \quad \frac{3}{8} \cdot \frac{16}{9} =$$

$$\frac{1}{4} \quad \frac{1}{2} \cdot \frac{1}{3} \cdot \frac{4}{5} =$$

$$\frac{4}{9} \quad \frac{5}{4} \cdot \frac{8}{45} =$$

$$\frac{9}{16} \quad \frac{1}{7} \cdot \frac{3}{5} =$$

$$\frac{1}{75} \quad \frac{5}{12} \cdot \frac{3}{5} =$$

$$27 \quad \frac{1}{7} \cdot \frac{5}{4} \cdot \frac{2}{3} =$$

$$\frac{3}{35} \quad \frac{5}{9} \cdot \frac{3}{15} =$$

$$\frac{1}{5} \quad \frac{5}{10} \cdot \frac{2}{5} =$$

$$\frac{3}{14} \quad \frac{2}{13} \cdot \frac{10}{5} =$$

$$\frac{21}{50} \quad \frac{9}{2} \cdot \frac{1}{8} =$$

$$\frac{2}{3} \quad \frac{3}{5} \cdot \frac{20}{27} =$$